

Comparing the numbers

100	200
(-250)	175
(-1,099)	(-1,100)
(-9,898)	(-9,989)

(+2.5)	(-2.75)
(- 1.199)	(-1.201)
(- 2.37)	0.15
(- 0.37)	(-0.369)

Comparing the numbers

$\frac{2}{3}$	$\frac{4}{5}$
$(-\frac{2}{3})$	$\frac{4}{5}$
$(-\frac{3}{5})$	$(-\frac{5}{7})$

$2\frac{5}{7}$	$1\frac{8}{9}$
$(-2\frac{5}{7})$	$(-1\frac{8}{9})$
$(-1\frac{2}{3})$	$(-\frac{7}{5})$

Arranging the numbers into the right orders:

$$\left(-1\frac{1}{3}\right) \quad \frac{3}{4} \quad \left(-\frac{2}{3}\right) \quad \left(-\frac{1}{2}\right) \quad \frac{7}{6}$$

$-\infty$ -----|-----|-----|-----|-----|----- $+\infty$

Arranging the numbers into the right orders:

$$\left(-1\frac{2}{3}\right) \quad 0.55 \quad \left(-\frac{3}{4}\right) \quad -\frac{1}{2} \quad \frac{3}{4}$$

$-\infty$ -----|-----|-----|-----|-----|----- $+\infty$

Calculating (write 1 for plus one or -1 for minus one)

$$A = (-2).(-3) + (-3).(+4) - (-4).(+5) =$$

$$(-2).(-3) =$$

$$(-3).(+4) =$$

$$(-4).(+5) =$$

$$B = - (-2).(-3)^2 + (-3).(4)^3 - (-4).(5)^4 =$$

$$(-2).(-3)^2 =$$

$$(-3).(4)^3 =$$

$$(-4).(5)^4 =$$

Calculating (write 1 for plus one or -1 for minus one)

$$(0.1)^2 =$$

$$(-0.1)^3 =$$

$$(0.2)^2 =$$

$$(-0.2)^3 =$$

$$(-0.2)^4 =$$

$$(0.02)^2 =$$

$$(-0.02)^3 =$$

$$(-2).(-0.02)^2 =$$

$$(-0.3).(-0.02)^3 =$$

Calculating (write 1 for plus one or -1 for minus one)

$$C = - (-0.1).(-0.2)^2 + (-0.4).(+0.3)^3 =$$

$$(-0.1).(-0.2)^2 =$$

$$(-0.4).(+0.3)^3 =$$

$$D = - (-0.1).(-0.3)^2 - (-0.4).(0.2)^3 =$$

$$(-0.1).(-0.3)^2 =$$

$$(-0.4).(0.2)^3 =$$

Calculating (the results are written in simplest fractions)

$$E = \frac{\left(-1\frac{1}{3}\right) \cdot \left(-\frac{1}{2}\right)^2 - \left(-2\frac{7}{9}\right) \cdot \left(\frac{3}{5}\right)^3}{\left(-1\frac{3}{5}\right) \cdot \left(\frac{1}{2}\right)^3 + \left(-5\frac{1}{3}\right) \cdot \left(-\frac{1}{4}\right)^2} = \left(\text{ ——— } \right)$$

$$\left(-1\frac{1}{3}\right) \cdot \left(-\frac{1}{2}\right)^2 = \left(\text{ ——— } \right)$$

$$\left(-2\frac{7}{9}\right) \cdot \left(\frac{3}{5}\right)^3 = \left(\text{ ——— } \right)$$

$$\left(-1\frac{3}{5}\right) \cdot \left(\frac{1}{2}\right)^3 = \left(\text{ ——— } \right)$$

$$\left(-5\frac{1}{3}\right) \cdot \left(-\frac{1}{4}\right)^2 = \left(\text{ ——— } \right)$$

Send to: antiaging.vn@gmail.com